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| | [3769]1-201
S.Y. B.Com. EXAMINATION, 2010 |
' BUSINESS COMMUNICATION
(NEW 2008 PATTERN) |
Time : Three Hours - Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(it) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : | [20]
(1) What do you mean by Horizontal Communication ? |
(2) What do you mean by ‘Non-verbal Communication’ ?
(3) What do you mean by Soft Skill ?

(4) Define the term ‘Business Letter’.

(5) What is status enquiry ?

(6) Define the term Collection Letter.
(7)  What is body language ?

(8) What is ‘Resume’ ?

(9) What do you mean by ‘Agenda’ ?
(10) Define Extraordinary General Meeting.
(11) What is ‘Fax’ ?

(12) What is ‘Telex’ ?

(13) What is ‘ECS’ ?

2. Answer in 50 words each (any two) : : [10]
(1) State the process of communication.
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(2) What are the points to be considered while drafting an enquiry
letter ? ' |

I(3) State the contents of job application.

(4) Explain the i_inportarice of Report.

3. Answer in 150 words_ each (any two) : [20]

(1) Write a complaint letter to the Sales 'Manager, L.G. Electrbnics,
Mumbai, about received damage goods.

(2)  Write a letter to Avinash Sawant, Nasik for collecting information .
about creditworthiness of M/s Vilasrao Patil, Nasik.

(3) Write an appointment letter on behalf of Hero Honda
Company Ltd., New Delhi to Shri Anil Deshmukh, Pune, as
an Accountant. '

(4) Draft a progress report of Hindusthan Construction Company

| Ltd., Nasik, on completion of 5 years service.

4. Answer in 300 words each (any two) : [30]

(1) What do you mean by communication ? Explain the barriers
of communication.

(2) Define the term listening. Describe in detail types of
listener.

(3) Describe the various electronic instruments used in modern
communication.

(4) What is Minutes ? Explain the importance of Minutes.
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S.Y. B.Com. EXAMINATION, 2010
CORPORATE ACCOUNTING
(NEW 2008 PATTERN)
Time : Three ‘Hours | Maximum Marks : 80
N.B. :— (ij All questions are compulsdry.
(i) Figures to t.he right indicate full marks. .

(Zit) Use of calculator is allowed.

1. (A) Fill in the blanks (any five) : [5]
() Discount on issue of shares is a ....... loss.
(z2)  AS-5 stands for .................. ,

(210 BEIR s s S, there is one liquidation and one formation
of a company.

(fv) A public limited comp;my can¥earn Ml oavn profits
only after getting the certificate of commencement.

(v) The audit fees paid for company audit under Section
227 of Companies Act, 1956 must be charged to ......................
incorporation period.

- (v1) AS-10 deals with accounting for ..................... assets.

(vii) If the benefits received by holding company are more
than the cost incurred by holding company in acquiring
the shares of subsidiary company, then the difference

isEcalled Sas s }
P16,
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Match the pairs : ' [5]

I ' I

(i) Bonus shares () Amalgamation
(@) AS-2 (b) Intangible Assets
(iii) AS-26 " (¢) Capitalisation of Reserves

(iv) . Formation of New (d) Valuation of Inventories
Company

(v) Capital Profit ~ (e) - Profit prior to incorporation

Surya Limited invited applications for 10,000 Equity shares of
Rs. 100 each at a discount 6% payable as follows : [12]
On Application Rs. 25
On Allotment Rs. 34 (discount Rs. 6)
On First and Final call Rs. 35.
The applications received were for 9,000 shares and all of these.
were accepted. All money dues were received except the first
and final call on 100 shares of Miss Roshani, which were forfeited.

50 shares of which were re-issued @ Rs. 90 to Mr. Chandra

~as fully paid.

Pass Journal entries in the books of Surya Limited.
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Pawan India Ltd. was incorporated on 31st May, 2009 to

acquire an existing business from ‘1st April, 2009. The

- following is the Profit & Loss A/c for ’_ché year ended on 31st

March, 2010. ; : : (8] -
, Profit & Loss Alc
(for the year ended on 31st March, 2010)

1Dy Py ' Cr.
Particulars Rs. | Particulars | Rs.
To Office Salary 18,000 | By Gross Profit b/d | 88,000
To Vendbr’s Salary 6,000
To Telegram Charges 2,400
To Office Rent 3,600

To Repairs & Mainten_ance

of Delivery Van _ 3,300
To Sales Tax - 2,200
To Provision for Taxation 3,000
To Director’s fees 4,000

To Discount on issue of
shares ' 2,850

To Interest on purchase

consideration . 1,375
To Audit fees | 4,775
To Printing Charges . 6,000
To Net Profit c/d 30,000
88,000 88,000
3 PTO.



Additional I.nformation :

(1) ._Sales. are .of one commodity aﬁd at a fixed rate, and
the average of the monthly'sales for the first two ﬁlonths
was one-half of the average of the monthly sales for
the remaining period of the yéar.

(2) The purchase consideration of Rs. 90,000' was paid to
vendor on 31st August, 2009. Ipterest @ 5% was paid
on the purchase consideration to the date of settlement.

Prepare a statement showing profit or loss prior to and post-

incorporation together with the accounting treatment of the

same.
Or
(A) Solve the following :

(i) The company deals in various products which are neither

similar nor interchangéable. At the time of closing of

annual accounts for the year 2008-09 the historical cost

(3769]-202 ' 4
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and net realisable value of the items of closing stock

are determined as below : [5]

Iteins Historical Cost Nef Realisable Value
(Rs. in lakhs) . (Rs. in lakhs)

Value No. 1 200 180

Value No. 2 42 42

Value No. 3 .180 210

Value No. 4 150 185

Value No. 5 140 199

@)

What will be the value of closing stock ?

Plaza Ltd. purchased a plot of land for Rs. 20,00,000

and constructed a building on it at a cost of Rs. 70,00,000.

It has also incurred the following expenses in the

process :

[5]

Stamp Duty and Registration of Land Rs. 2,00,000

Demolition of old building Rs. 3,00,000

Architect’s and Engineer’s fees for the
building Rs. 2,80,000
‘Government dues on construction i Rs. 70,000
Municiﬁal_ Corporation charges Rs. 40,000
Fencing around the plot of land Rs. 2,00,000
5 PTO.



(B)

3. (A
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Find the cost of Land and cost of Building separately

and also find out the cost at which Land and Building

be shown in the Balance Sheet.

Write short notes on :

(i)

date.

Borrowing cost;

[10]

(ii) Contingencies and events occurring after the Balance Sheet

The following are the balances of Zalkari Devi Limited as on

31st March, 2010 : [15]
Debit balances Rs. Credit balances Rs.
Premises 30,72,000 | Share Capital 40,00,000
Plant 33,00,000 | 12% Debentures 30,00,000
Stock 7,50,000 | Profit & Loss A/c 2,62,500
Debtors 8,70,000 | Bills Payable 3,70,000
Goodwill 2,50,000 | Creditors 4,00,000
Cash and Bank 4,06,500 | Sales 41,50,000
Calls in arrears 75,000 | General Reserve 2,50,000
Interim dividend paid |  3,92,500 | Provision for Doubtful
Purchases 18,50,000 | debts on 1-4-2009 35,000
Preliminary Expenses 50,000
‘Wages 9,79,800
General Expenses 68,350
Salaries 2,02,250
Bad Debts - 21,100
Debenture Interest

paid 1,80,000

1,24,67,500 1,24,67,500
6



Additional Information :

(@)

(b)

(e)

(d)

(e)

©

(h)

(@)

[3769]-202

‘Depreciate plant by 15%.

Wri‘lse off Rs. 5,000 from Preliminary expenses.

Half year’s debenture interest is due.

Create 5% provision on debtors for doubtful debts.
Provide for Income Tax @ 50% of current year’s profit.
Stock on 31st March,_ 2IOlO' was Rs. 9,50,000.

A claim of Rs. 25,000 .for workmen’s compensation is be%ng
disputed ll)y the company.

Transfer Rs. 10,000 to General Reservé.

Salaries are outstanding forl current year Rs. 20,000.

Prepare Trading A/c, Profit & Loss A/c, Profit & Loss Appropriation

Alc for the year ended on 31st March, 2010 and Balance Sheet

as on that date.

7 | PTO.



(B)

From the following information, prepare a Consolidated Balance

Sheet of Hawai Ltd. and its subsidiary Sundari Ltd., as at

31-3-2009 giving detailed workings : [15]
Balance Sheets
(as on 31-3-2009)
'Liabilities Hawai | Sundari|Assets Hawai [Sundari
Ltd. Ltd. | Ltd. | Ltd.
(Rs.) (Rs.) (Rs) | (Rs)
Share Capital : Goodwill 1,00,000 —
Equity shares of Fixed Assets 2,00,000 | 2,50,000
Rs. 10 each 4,00,000 [ 2,00,000 | Investments :
General Reserve 2,00,000 60,000 '(i) 16,000 shares
Profit & Loss A/c  [1,00,000 | 40,000| ofRs. 10 each
6% Debentures - —] 1,00,000 | in Sundari Ltd.
Loan from Hawai at cost 2,00,000 =
‘Ltd. — 10,000 (Z7) 6% Debentures
Sundry Creditors [1,00,000 | 40,000 of Sundari Ltd.
Bills Payable 50,000 | 30,000 (face value
: Rs. 60,000) 60,000 —_
(ziz) Government
Securities — 50,000
Stock 1,00,000 [ 40,000
Sundry Debtors .80,000 40,000
Bill Receivable 40,000 —
Bank Balance 60,000 | 1,00,000
Loan to Sundari
Ltd. 10,000 —
8,50,000 | 4,80,000 8,50,000 | 4,80,000
[3769]-202 8



. Additional Information :

4. (A
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(@)
td Sundari Ltd.

(ii)- The closing stock of Hawai Ltd. includes -stock Worth ‘
Rs. 30,000 supplied by Sundari Ltd. which had invoiced
at cost plus 20% profit on cost. .

(iii) Bills payable of Sundari Ltd. include Rs. 24,000 issued
in favour of Hawai Ltd. which was discounted but not
yet matured Rs. 4,000 of them.

(fv) Hawai Ltd. acquifed 16,000 equity shares in Sundari Ltd.
on 1-4-2008 on which date the Balance Sheet of Sundari
Ltd. éhowed General Reserve at Rs. 20,000 and Profit
& Loss A/c credit balance of Rs. 10,000.

(v) Hawai Ltd. revalugd ﬁxeci assets of Sundari Ltd. as on

 1-4-2008 at Rs. 2,60,000. |

Write short notes (any two) : | | [8]

(i)l Capital Redgmption Reserve;

(i) Difference between Equity shares -and Debentures;

(zit) Reduction of Share Capital.

Sundry creditors of Hawai Ltd. includes Rs. 20,000 due

9 , PTO.



(B) From the following information relating to Ratan Ltd;, prépare

Liquidator’s Final Statement of Account : : [12]

(1)

(2)

3)

(4)

(5)

[3769]-202

Share Capital :

(@) 800 Preference shares 6f Rs. 100 each fully
paid. |

() 35,000 Equity (A) shares of Rs. 10 each fully
paid. |

(¢) 30,000 Equity (B) shares of Rs. 10 each, Rs. 7
paid up.

d) 20,000 Equity (C). shares of Rs. 5 each, Rs. 2
I;aid up.

Debentures of Rs. 70,000.

Creditors of Rs. 50,000 unéecured, creditors Rs. 10,000

preferential.

Assets realised Rs. 3,10,000.

Liquidator’s remuneration is 5% on assets realised and

"liquidation expenses were Rs. 6,600 and legal charges were

Rs. 2,900.

10



Or

The following are the Balance Sheets of two companies — Akash

Ltd. and Sagar Ltd. on 81st March, 2010 : [20]
.Balance ‘Shefat of Akash Ltd.
(as on 31-3-2010)
Liabilities Rs. | Assets Rs.
Share Capital Goodwill 10,000
Equity shares of Re. 1 Building 45,000
each fully paid 1,50,000 | Machinery at cost 5d,OOO
Forfeited Shares A/c 150 | Less: Ijepreciation —-15,000 | 35,000
4% Debenfures 35,000 | Sundry Debtors 125,850
Reserve Fund 10,000 | Stock | 68,276
Profit & Loss A/e 16,865 | Cash at Bank 33,674
Sundry Creditors 5,785
2,17,800 2,17,800
Balance Sheet of Sagar Ltd.
(as on 31-3-2010)

Liabilities ~ Rs. | Assets Rs.
-Share Capital : - Goodwill 10,000
Equity shares of Re. 1 ~ Building 13,000
each ﬁﬂly paid 39,000 | Machinery at cost 11,000

5% Debentures 7,000 | Sundry Debfors 10,000
‘Sundry Creditors 25,700 | Less : R.D.D. - 500 9,500
Bank Overdraft 600 | Stock 15,200
| ' Profit & Loss Ale 13,600
3 72,300 72,300
| [3769]-202 11 PTO.



The two companies decidéd to amalgamate as dn 31st March'-{ 2610-‘
and a new company ‘Sukhsagar Ltd.” was formed with an authorised
) capltal of Rs. 2,50,000 in shares of Re. 1 each. The followmg terms

were agreed o

(1) The consideration was :

(@) 6 S_hareé of Re. 1 each at Rs. 1.10 fully paid in the
New Company in exchange for every 5 shares in Akash
Ltd. and Rs. 1,000 in cash. .

One share of Re. 1 each at Rs. 1.10 fully paid in | the
New Company in exchange for every 3 shares in Sagar
Ltd. and Rs. 500 in cash.

(b) The debentureholders were to be allotted such debentures
in the New Company bearing interest at 3.5% as would
bring them the same amount of interest.

(2) Akash Ltd. to pay its own cost of winding up which amounted
to Rs. 300 and the. cost of Winding up of Sagar Ltd. is to
be paid’ by Sukhsagar Ltd. (not to include in purchase consi-
deration) which amounted to Rs. 200.

(3) Sukhsagar Limitfad to take over all-assets and liabilities of
‘both companiés at book values. :

 Prepare : .

(1) Realisation A/c, Sukhsagar Ltd. A/c, Equity Shares in -Sukhsagar
Ltd. Alc, 4% Debentureholders Alc, Cash A/c and Equity
Shareholders A/c in tHe books of Akash Limited. '

(zi) Open Journal entries in the books of Sukhsagar Limited.

[3769]-202 : ' 12
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S.Y. B.Com. EXAMINATION, 2010
BUSINESS ECONOMICS (MACRO)
(NEW 2008 PATTERN)

Time : Three Hours : ~ Maximum Marks : 80

N.B. :—

(i) All questions are compulsory..
(i) Figures to the righi: indicate full marks.

(iti) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any ten) : [20]

(1)
®)
@3
4)
®)
®)

(7)

- (8)
€))
(10)
(11)
(12)
(13)

Define ‘Macro Economics’.
What is the significance of estimating National Income ?
How is near money different from legal tender money ?

What are the primary functions of money ?

' State the fwo assumptions of Fisher’s Quantity Theory of Money.

What is C.R.R. ? In which phase of a trade cycle, central
bank lowers the C.R.R. ?

'Which factors from demand-side are responsible for inflation ?

What is deflation ?

‘State the Psychological law of consumption.

Explain the relationship between inflation and unemployment.
Define Budget.
Give any four items of public expenditure.

Which - principle lies at the root of public finance ?
: P.T.O.



2.  Answer the following questions in 50 words each (any-fwo).: [10]

= QL)
(2)

(3
(4)

Explain Reserve Bank of India’s new money measures.
Explain cash-balance approach to the theory of value of |
money. | _ '
Explain the phases of a trade cyclel with diagram.

Explain the terms—Marginal propensity to consume and Marginal

efﬁéiency' of 'capital.

3. Answer the following questions in 150 words each (any two) : [20]

(1)
(2)

(3)

4)

Explain with diagram, the circular flow of income.

What are the effects of inflation on production and distribution
of income ? .

Explain with example, the investment multiplier principle,

devélop'ed by Keynes.

‘What is meant by Public Finance’ ? Explain the nature and

scope of Public Finance.

4.  Answer the following questions in 300 words each (any two) : [30]

(1)

(2)
(3)

(4)

Why and how does Central Bank control credit creation of
the Commercial Banks ? '

Explain the Keynesién_ theory of employment and income.

Critically examine the following statement :

“Supply creates its own demand.”
Give an account of the different methods of computation of

national income. What are the difficulties encountered in

° estimation of national income ?

[3769]-203
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Total No, of Questiohs—tl] [Total No. of Printed Pages—4

= [3769]-204
SY. B.Com. EXAMINATION, 2010 '

PRINCIPLES AND FUNCTIONS OF MANAGEMENT

(Business Management)

(NEW 2008 PATTERN)

Time : Three Hours ' Maximum Marks : 80

N.B. :—

(£)  All questions are compulsory.

(7) Figures to the right indicate full marks.

1.  Answer the following questions in 20 words each (any ten) : [20]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
@)
(10)
@)
(12)
(13)

What is ‘Administration’ ?

Define the term ‘Decision-making’.
Define the term ‘Profession’.

What is meant by “Motivation’ ?

Define the term ‘Communication’.

What do you mean by ‘Centralisation’ ?
What is ‘Scientific Management’ ?

What is ‘Situational Leadership’ ?

‘State the assumptions of Theory X

What do you mean by ‘Management by Objectives’ ?
Define the term ‘Organisation’.
What is ‘Event Managemént’ ?
What do you mean by ‘Social Responsibiiity’ 2
' P.T.0.



2.  Answer the following questions in 50 words each (any two) : [10].
(1) What are the techniques of Coordination ?
- (2) Write a brief note on ‘Departmentation’.
(3) Explain the _steﬁs in planning.

(4) Explain' the reasons for resistance to change.

3. Answer in 150 words each (any two) : . ' [20]
_ (1) Explain the contribution of ‘Herﬁlberg’.

(2) Describe the steps in the process of control.

(3) Explain the types of decision-making.

(4)  Describe the difficulties in delegation of authority.

4. Answer in 360 words each (any two) : [30]
(1) Describe the contribution of Mahatma Gandhi to Management.
(2) -Explain the methods of training along with their merits and

demerits. i i

(3) Describe various styles of Leadership.

(4) Explain the scope and characteristics of business ethics.
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Total No. of Questions—4] [Total No. of Printed Pages—4 .
|  [37691-205
S.Y. B.Com. EXAMINATION, 2010
ELEMENTS OF COMPANY LAW
(NEW 2008 PATTERN)
Time : Three Hours  Maximum Marks : 80
N.B. — (i). Al quéstions are compulsory.

(i) Figures to the right indicate full marks.

1,  Answer the f’ollowing questions in 20 words each (any ten) : [20]
(1) Who can become a Promoter ? i
(2) What is ‘E—ﬁiing’ ?
(3) State the meaning of "Indepe'ndent Legal Entity’ of the
company.
(4) Define ‘Employees Stock Option’. ;
(5) What is the meaning of ‘Underwriting of Shares’ ?
(6) What is the meaning of ‘Deemed Prospectus’ ?
(7)  What is the meaning of ‘Proxy’ ?
(8) Enumerate fwo ordinary businesses that can be transacted in
“an Annual General Meeting.
(99 Who can be appointed as a ‘Director’ ? .
(10) State the maximum number of public companies in which a
person can be appbint_ed as director.
(11) State any two p‘urposés of amalgamation.
'(12)_ Define ‘Liquidator’.
(13) ‘State the fequired quorum for a board meeting. |
- P.T.O.



2.  Answer the following questions in 50 words each (any two) : [}0]

1)

(2

3)

(4)

List the documents required for registration of a public
company.

State the rights of minority shareholders . to protect their
interest. | b
Distinguish between reconstrﬁctio'n'and amalgamation of
companies..

What is ‘Digital Signature Certificate’ ?

3. Answer the following questions in 1560 words each (any two) : [20]

(1)
- (2)

3)

(4)

State thé_ advantages of incorporation of a company.

“A compélny cannot buy-back its own shares.” Explain. Are there
any exceptions rto it ?

Distinguish between Motion and Resolution.

Explain the duties and rights of official liquidator.

4,  Answer the following questions in 800 words each (any two) : [30]

(1)

(2)

(3)

(4)
[3769]-205

Define ‘Private Company’. State the privileges and exemptions
that can be enjoyed by a private company.

Define ‘Shares’. Distinguish between equity shares and preference
shares.

Who can become a'director.? State the modes of appointment
of directors.

Explain the different kinds of company meetings.

2
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4,  WHT WAE IWN YR 300 ILE (R (FURE BAFH) [30]

(1) e FUET SEn W @eRt R Iudn dvR Ry weR
9 WISA WL

(2) ‘um’ W FTSEEN CSATEN Wl W 9T STfUl STUREeR W ANI® Wik
W H. :

3) Uule® WU WS IHA ? UOow HOCE wE oW

(4) HT U TS TER R H
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" Total No. of Questions—4] [Total No. of Printed Pages—4

_ [3769]-206
S.Y. B.Com:. EXAMINATION, 2010
BUSINESS ADMINISTRATION
| Paper I .
(NEW 2008 PATTERN)
Time : Three Hours | : Maximum Marks : 80
N.B. :— (i) - All questions are compulsory. _
(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(1) Organisation '

(2) Joint Stock Company

(3) Level of Management

(4) Small Scale Industry

(56) Legal Environment

(6) Minimum Wages Act, 1948

(7)  Liberalization

(8) Quality Control

(9) KnoWledge Process Outsourcing (KPO)

(10) Characteristics of Special Economic Zone

(11) Industry

(12) Industrial Sickness

(13) IResponsibilitics of Business towards the Government.

P.T.O.



(4)
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Answer in 50 words each (any two) : : [10]

2,
(1) Characteristics of Business.
(2) Advantages of Sole Proprietorship Organisation..
(8) Factors aff_;ecting the productivity.
(4) = External causes of Industrial Sickness.
3. Answer in 150 words each (any two) : [20].
(1) Write a detailed note on ‘Knowledge Process. Outsourcing’.
(2) Arguments for and against for social responsibility of
business.
(3) Explain the process éf formation of Company in India.
(4) Discuss the essentials of a successful Business Organisation.
4. Answer in 300 words each (any two) : [30]
(1) E};plain the advantages and disadvantages of Globalisation.
(2) Write a detailed note on ‘Recent Trends in Location of
Industries’.
(3) Explain the various laws affecting the operations and control

of business in India.

Define ‘Management’. Explain the principles and functions of

‘management.



@ : W AW | THUT TUT : 80
Tl :— () Wd WA Arefan Jomas omRd. |
(@) SodldhEle ik WA qu U eFifodm.

1. Tdhl 20 I SW ol (Fvd @) [20]
(1) e
(2) UIH Weddl YHED

(3) SAITATYATAT Yrclezl

(4) o9 =

(5) wraRfasg®  gateRw

(6) fHAM a1 wREl, 1948

(7) et

(8)  Turerr fEEr _
(9) I WHIHMER FEWEE (KPO)
(10) fomm enfefer &amet dfime

(11) == '

(12) SiENfT  e=Rau

(13) ImEATeAl Yfd Iof;IOIHI*"IIvQI SCIEHE

2,  YIE 50 =M SW fowl (FRE @) | [10]
(1) IoUErET aRmL.
(2) THS NN FEA HRER.
(3) SUEHFAR YRUMH FWUR .
(4) afﬁ%frﬁﬁ SR Sfeffd SR
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3, WYAH 150 T SW R (FUNE BH) [20]
(1) ‘oY guEEEgR FEwsEn geR fowga fen femn
(0)  TaEEE SR SR SR S R 5 e ww.
@) YR YHe® Aadd WOAE YHE T w4
(4) oHIHE WEEIS WIEIGHS SoRdA% "kl A€ .

4 TR 300 TEH SR o (R @) : [30]
(1) SIfaehiehome wRe offor die o . |
(2) ‘Wwﬁwwwm’wﬁwﬁqm.
(3) HOUEN TAed 9 FEAUEE WRdnie fafay @ fovad wed
(4) ORI SATEd wl. AdEIUAEl dcl Sfful i T .
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Total No.

of Questions—4] : " [Total No. of Printed Pages—4
[3769]-207
S.Y. B.Com. EXAMINATION, 2010
~ BANKING AND FINANCE
Speciall Paper 1
(Indian Banking System)
(NEW 2008 PATTERN)

Time : Three Hours : Maximum Marks : 80

N.B. —

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any fen) : [20]

1)
2)
3)
4)
(5)

- (6)
(7)
8)
9)
(10)

(11)
(12)
(13)

Define Non-Scheduled Banks.

What is Foreign Banks ?

What is meant by social control over banks ?
Write names of any four Nationalised Banks.
What is Business Environment ?

What is Cultural Environment of Business ?
What is Regional Rural Banks ?

What is Urban Co-operative Credit Society ?
Define Cash Reserve Ratio (C.R.R.).

Give any two reasons for the establishment of Reserve Bank
of India. % . I
What is Capital Adequacy ?

Define Non-performing Assets.

Give any two objectives of Banking Sector Reforms.
P.T.O.



2.
@)
(2)
(3)
(4)
3.
(1)
(2)
(3)
(4)
4.

(1)

(2)

(3)

(4)

[3769]-207

Answer the following questions in 50 words each (any two) : [10]

Explain the role of Banking System in Indian Economy.
Explain the objectives of Bank Nationalisation.

What are the principles of Co-operation ?

Explain the recommendations of Narasimham Committee II

(1998).

Answer the following questions in 150 words each (any two) : [20]

Explain the progress and performance of Foreign Banks in
India. | | |

Discuss the economic and social objectives of Business.
Explain the progress and problems of Regional Rural Banks.

Explain the qualitative methods of credit control.

Answer the following questions in 300 words each (any two) : [30]

Exjplain fully the arguments for and against Bank
Nationalisation.

Explain the economic, international and cultural constituents
of Business Environment.

Discuss the functions,_progress and probl.ems of District Central

Co-operative Banks.

Explain the major functions of Reserve Bank of India.

9



(TS W)
9@ : A9 a| | THUT T : 80
Yo :— () W WA St s SR
(i) S9AHSS i qui U <.
(fii) HeyEE: 'Li\oo SUSl YIUIAHT R,

1. OO WA GAE 20 I SWfow (FIRE wmr) ~ [20]
(1) foR syfea o=t =men . :
(@) foEl dHm IS %E 2
8) dwEle gmifves frEET wue ™ 2
@) FEE ww Tdeipa et T
(5) AEYIIR AR WS HF 2 |
(6) TEEEE e TR wS wm 2
(7) YRR w1 wus @ ?

(8 WWWWW?

9) W@ vEE et et omen .

(100wt R e s SO @ B fom
(11) vIea@=1 AU oS &1 2 |

(12) fifsha wom=h (N.P.A) =mem @ .

(13) T S guRI FUEE @ RS @

2. TP WA YO 50 I SW TR (BvRd @) [10]
1) R oo 96 gudEl g ww w5
2) e TR SfER o™ .
(3) W T FoEA 2 |
(4) TRfgen wfFdt 11 (1998) =0 RrerEh w= =q.
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3.-@@3%%150.%@%@(@“@@%): [20]
| (1) WWWWWWWW
(2) HIEETAT sfm e BIEIEED e,i“abdi‘r{‘l == o
,(3)9ﬁﬁﬁaﬁmﬁwmaﬂﬁwmm.
(4) TOTHS UdEAOTAT USSR HA

4. @ W G 300 TRE SR foR (FORE ) (301
(1) e USRiEOTE S o foOUE Sed sod TR RERIEIC
(@) ol TR i, S e Wit geh e

H.

(3) ﬁwqwﬁmﬁﬁm@aﬁmmwwwm
@) e foed St TE wh TR H
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Total No.

of Questions—4] (Total No. of Printed Pages—-4+1 "

, [3769] 2081 o
SY. B.Com. EXAMINATION, 2010 |
BUSINESS LAWS AND PRACTICES
" Paper 1
(NEW 2008 PATTERN)

Time : Three Hours : Maximum Marks ; 80

N.B. :—

(z) All questions are compulsory.

(i) Figures to the right indicate full marks,

1. Answer the following questions in 20 words each (any ten) : [20]

(i)
(i)

) (Zir)
)

()
(i) -

(vii)

State the meaning of ‘Bye-Laws’ under' the \Maharashtra |
Co-operative Societies Act, 1960. |

Define ‘Area of Operatlon under the Multi-State Co- operatwe
Society Act, 2002. ;

State two features of a Co-operative Society.

What do you mean by Special General Meetmg under the'
Multi-State Co-0perat1ve Society Act, 2002 1 '

Define ‘Broker’ under the Agricultural Produce Marketmg
(Development and Regulation) Act, 1963.

Define ‘Agnculturlst’ under the Agncultural Produce Marketmg

(Development and Regulation) Act, 1963.

Define ‘Premium’ under the Law of Insura.qc’:e.

PTO.



(viz’_i)l State the meaning of ‘Marine -Insurance\’ -? :
. (ix) What is the meaning of the term ‘Burglary Insurance’ ?
- (x) " State the meaning of the term ‘Marixie Perils’.
- (xi) State the different types of Fire Insurance Policies.
(<ii) What is the meaning of Risk’ under the Law of Insurance?

(x2ii) Define ‘Life Insurance’,

2. - Answer the follpwiﬁg questions in 50 words each (any two) : [10]
(2) State the rights of policyholders.
(Zt) Write a note on Re-Audit under the MCS Act.
(1) Write a short note on Double Insurance.

 (iv) . Explain in brief the term Contract Farming under the Agricultural
Produce Marketmg (Development and Regulation) Act 1963.

8.  Answer the following questions in 150 words each (any two) : [20]

(i)  What are the restrictions on the socletles ? Expla.m the steps
- for registration of a co-operative society under the Maharashtra

Co-operative Societies Act, 1960.

(it)  Explain in detail Amalgamation of market committees under
~ the Agricultural Produce Marketing (Development and Regulatlon)
- Act, 1963.

(iii) Discuss the different types of Insurance policies.

(lv) What are the obligations and rights of Insurer ?

[3769]-208 | i



4.  Answer the following questions in 300 words each (any fwo) : [30]

(i) State the objectives of the Multi-State Co-operative Society
Act, 2002. Explain the powers and functions of Chief Executive
under the Act.

(i1) Explain the different types of Miscellaneous Insurance policies.

-(iiz) Explain the objectives of Life Insurance Corporation. State its

constitution and powers.

(tv) Explain the powers and duties of officers of Marketing Board
under the Agricultural Produce Marketing (Development and
Regulation) Act, 1963.

9% : WA A - TeHUT TOT : 80

GO :— () WA WA STRAE 3
(i) oS TIIfOw WG U I\?HI%H.
(iii) GeWiEdl <USH WETULNRT TRl

1. TR 20 TKEET TP SR foR (FR D [20]
() HENTE WehN W HET, 1960 i ‘S-S = e g
(i) RS WEER W S, 2002 sl ‘dfw feus! o @
(i) Wewrt Wt €M AT W

 [3769]-208 | 3 | ~ PTO.



(iv) BT WeEHH ¥ HREE, 2002 st ‘R weETERe W RS
wE 2 ' |

) MWW(WW&TW) TR, 1963 sila ‘<o
=t e fom |

(vi) Tl w’a# formt (foprw enfor fraw) hren, 1963 iala ‘Hueh
(o) = e foRt

(vii) fom Rl Siwta gEn’ = ere fod.
 (viip) ST o wid 9O

(x) ‘oS0 TR’ A e ok .

(x) ‘T e W Ehewten b WA

(xi)‘ ‘ofg far? At fafaw WeR WET. |

(i) e T siafa Risk’ (Sheiw) =Sl wE 2
(i) ‘S o ST for.

o ario v A S0 TR IR fow (W @) [10)
() fam dom uREE SfEER . | |

Gi) MCS whrEen it g’ a_tfzﬁ foal.

G R W A fem

(v) A aecna'fr ) (Fam oo fome) R, 1963 Sfwid ‘R

PR F Hhed TR H ' :

3w WA T 150 TR SWfeel (B W) ;o [20]
) et S T o 2 WO e S w1960 S
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(ii) ﬁﬁmﬁﬁ(ﬁiﬁmmﬁw)w 19633whw
WWWW&W

(i) fomm a‘ﬁﬁﬁq} ERCH e Co e s e |
(Gv) fomr yfgfaef=h (Insurer) #ted oM sifery w79 A ?

4. megoommﬁa(waﬁ): [30]
@) a@—@@mﬁﬁwm,mm%ﬁ&%@m.mwm
H@Wﬁw@aﬁmawﬁww.
@) TR fom AR fafay yor o .- _
(iii)?ﬁaﬁﬁmﬁﬂna%%ﬁmﬁmaw.ﬁa?ﬁ%ﬁmaﬁraﬂw
(iv) ﬁﬁmﬁﬁ (mmfw)m 196331?ITf?raITEHT'T
HEaT=  Siferer=ys) AuFR et wF ws g
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Total No. of Questions—4] [Total No. of Printed Pages—4
[3769]-209
S.Y. B.Com. EXAMINATION, 2010
CO-OPERATION AND RURAL DEVELOPMENT
Paper 1
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]
(1) What is Co-operation ?
(2) Explain the nature of Co-operation.
(3) What do you mean by multistate co-operative society ?
(4)  State any two problems of Non-Agricultural Credit Co-operative
Societly. -
(6) What is rural development ?
(6) State any fwo limitations of Panchayat Raj System.
(7)  What do you mean by Globalization ?
(8) What do you mean by Co-operative Legislations ?
(9) State the objectives of Non-Agricultural Credit Co-operative
Society.
- (10) State any two problems of Consumer Co-operatives.
(11) What do you mean by peoples participation in rural
development ? _ . _
(12) What is Group Approach of rural development I?'
(13) State the effects _of _globalization on rural development.

P.T.O.

y



!

Answer the following questions in 50 words each (any two) : [10]

(1)

@

(3)

(4)

(1)
(2)

(3)

4)

Explain the objectives and features of Co-operative Societies
Act, 1904.
State the provisions of Maharashtra Co-operative Societies

Act, 1960 regarding privileges and duties of Co-operative

. Societies.

What are the objectives of Multistate Co-operative Societies
Act 2
Explain the role of Co-operative movement in the rural

development in Maharashtra.

Answer the following questions in 150 words each (any two) : [20]

Explain the history of co-operative movement in Maharashtra.

 State the provision of Maharashtra State Co-operative Societies

Act, 1960 regarding Audit of Co-operatives.

Explain the main provisions of Bombay Provisional Co-operative
Act, 1925.

State the benefits of Co-operative Legislation.

Answer the following questions in 800 words each (any two) : [30]

(1)
(2)
(3)

4)
[3769]-209

- Explain the progress of Dairy. Co-operatives in Maharashtra.

Explain individual approach of rural development.
Eﬁ{plain the objectives and nature of IRDP.
Explain the concept and structure of Panchayat Raj System.

2
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(2) WWWW
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3. WO WAEl S Tdsl 150 I fosl (HIvhE dF) [20]

(1) TRERIRCM® UehRl dosdcidl SfaeM TS .
(2) TERTS TS UEHW TRl R, 1960 THIG TEEH W simam
2 1o e 2| S s 1

(8) TR WifesHo UeHhRl WL HESI, 1925 = A WGl T H

(4) TEHPR fawas chqu_ui% HRR G

4, @Wwﬁﬁqﬁﬁsoomm(mﬁﬂ): [30]
(1) ¥RNSMe oY Fehil T Wl s &
(2) T foeRTETeEqen dAfdae it W &
(3) uHIfcHh v fowE ARG I AT TET W w

(4) UEEd TS O] Heddl TR e o W®9 9.
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Total No. of Questions—5]

Time

N.B.

: Three

Hours iy Maximum Marks : 80
— (z))  All questions are compulsory. |
(ii) Figures to the right indicate full marks.
(iti) Use of calculator is allowed.
(A) Fill in the blanks : | (5]
(i)  Fixed cost per unit eeresneeneen sy . with increase in the
size of output. |
(IO e SR o is a unit of product, service or time in
 relation to which cost may be ascertained.
(i) A .good costing system gives equal emphasis on cost
......................... andilcoS TR
- (fv) Two important opposing factors in fixing the economic
order quantity are ...........c.cceeeuuene. costandisimr i s w0
cost.
(v) Differential piece -rate sYs@em provides for higher wages

[Total No. of Printed Pages—4+2
| [3769]-210
SXY. B.Com. EXAMINATION, 2010
COST AND WORKS ACCOUN‘I_‘ING
' | Paper I
(NEW 2008 PATTERN)

RO SR B workers.

PT.O:: -



_ (B). ‘State whether the following statements are True or False : [5]

(i) Nails used in furniture manufacture is an iﬁdirect
: material cost.

(i) While financial accounti_ng leads to external reporting, cost
-accbunting restricts itself to. internal reporting. .

(i) BintCardblis i nint sune dyibys the (Cost. Atcounting
Departnient. |

(iv) Bill of materials is an invoice received from the supplier
of material.

(v) Taylor’s Differential Piéce Rate System guarantees a

minimum day’s wage.

2. What is cost accounting ? Discuss briefly its objectives and
advantages. ' : [15]

Or
Explain briefly the functions of the p.urchasing department in a lafge

manufacturing concern. [15]

8. Write short notes on (any three) : 2 _ . [15]
() Classification and codification of materials
(it) Weighted Average Price Method
(iii) ABC Analysis
(iv) Piece Rate System
(v) Merit Rating.
[3769]-210 | 2
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[37691-210

Prepare a Cost Sheet from the following information of Relic

India Ltd. for the year ending 31-3-2007 : [15]
Particulars . Amount

(Rs.)
Purchase of raw materials | : 1,55,000
Freight. .paid on raw material purchase 4,000
Productive Wages paid : : 75,000
Unproductive Wages 22,000
Productive Wages outstanding . , 7,000
Rojralty on production c 18,000
Fuel and power _ ' ' - 4,500
Factory Rent 6,300
Ir;surancel of machinery 1,700

Loading and unloading charges on purchase of

raw materials il i 3,500
Depreciation of machinery ' ; 8,300
Lighting — Factory 700

— Office 300

Factory cleaning : | 400
Advertising iy | | S 3,700
- Carriage outwérds ' 1,300
g _ BTO:



(B)

13769]-210

Income Tax | Shal e 6,040

Factory .telephone - I 890
Planf repairs and maintenance ‘ 2,500
Ofﬁce computer depreciation S 12,000
Office stationery er L 200
Travelling expenses — Sales.men ' - 3,500

_ Office Staff 1,800
Donations / ‘ | 1,350
Salaries of sales staff | _ 7,000
Marketing research expenses 1,400
IBank charges and interest : 340
Expensesl on_ofﬁce cars 3,500
Office manager’s salary . : 5,400
Bad debts ' ; 700
' Sales ' | . 3,50,000

From the following information, calculate Economic Order

Quantity : . [5] -
(i) Quarterly consumption of materials ' 2000 kg
. (i#) Cost of placing one order ' Rs 50
(iii) ICost per unit | Rs. 40 |
(jv) Storage and carrying cost | ' .. 8% of average

" inventory value.



5 @)
(B)
[3769]-210

The following transactions occurred in purchase and issue of

material in an organisation during October, 2008 : [10]
The stock on 1-10-2008 was 200 units @ Rs. 25 per unit.
Receipts dated  Quantity Rate |
4102008 200 units Rs. 24 per unit
10-10-2008 150 units Rs. 23 per unit
18-10-2008 100 units Rs. 24 per unit
22-10-2008 100 units Rs. 23.50 per unit
Issued dated _Quantity

5-10-2008 250 units

12-10-2008 200 units

25-10-2008 250 units

30-10-2008 _ 20 units

'Pr'epare the Stores Ledger Account by adopting FIFO

method.
The following figures are taken from the records of a

Co. for the year 2009. The valuation of inventory is

Rs. 2 per kg : [10]
Particulars | Opening Stock | Purchases | Closing Stock
Material X 1400 kg 23000 kg 400 kg
Material Y 2000 kg 3600 kg 2400 kg

Calculate the material turnover ratio of the above two materials

and express in number of days 'the_ average inventory is held.

Also determine which of the materials is fast moving.

5 P.T.O.
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Or
Calculate the earnings of a worker under the : [10]

(@) Halsey Plan, and

- () Rowan Plan

from the following particulars :

(1) Hourly rate of wages (guaranteed) 50 paise

(2) Standard time for producing 1 dozen

articles 3 hours

(38) Actual production 20 dozen articles

(4) Actual time-taken 48 hours
6



\Tdtai No. of Questions—35] - [Total No. of Printed Pages—8+1

- [3769]-211

S.Y. B.Com. EXAMINATION, 2010
BUSINESS STATISTICS
Paper I
(NEW 2008 PATTERN)

Time Three Hours Maximum Marks : 80

. N.B. :— (i) Attempt All questidns.

(it) Figures to the right indicate full marks.

(iit) .Use of calculator and statistical ta_bles is allowed.

1. (A) Attempt any four of the following : {2 each]

(@)
b)
(c)

(d)

Define Additive model from time series.

State the concept of Autoregressive model.

For the given data, Mean = 160, Mode = 157 and

s.d. = 50, find Karl Pearson’s coefficient of skewness.
State whether each of ‘t.he statements given below is True
or False : )

() Assignment p_l;oblem is particular t;ase of Transportation

problem.

(i) In symmetric distribution mean, mode and median are

“not equal.

RO,



(e) Explain the concgpt of interpolation.
- () Give any two real life situations where multiple regression
can be used.
| (B) Attempt ény two of the following :
(@) Determine an initial basic feasible so.lrution to the following

transportation problem by using Matrix Minimum Method.

Also find corresponding cost of transportation : [6]
Distribution Centres | Supply
A R C
I 1 2 3 50
Plants | IT 3 e 1 | 80
ITI 4 \ 5 6 75
IV 3 1 2 95
Demand | 120 | 80 ioo 300

£ [3769)-211 : eSOk
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(6) The sales for a certain factory is given below. Fit a straight

line trend to the given data :

Y(?ar .Sales (Rs. ’000)
1993 %5
1994 56
1995 _ 79
1996 80
1997 | 40
Estimate the value of salés for the year 2000. [6]

(¢c) Determine profit maximizing output (x) where profit function
is given .by
| fx) = =3 + 82 — 5x -+ 100. 6]
2. Attempt any twé of the following :

(@) In a study of a random sample of 50 students, the following
results were obtained with respect to variables X;, X,, Xg
where
X, : height of son (cms)

Xo héight of mother_((_:ms)

X3 : height of father (cms).

(3769]-211 . ik P.T.0.



(b)

[3769]-211

XK= w1705 wa X, = 160) ; St iGal

0'1 = 2'-4’. cy = 2.7, o3 = 27

rig = 0.28, rqz = 0.49, To3H= 0.51

Obtain the equation of plane of regression of X; on X, and
X3. Estimate of Xl for Xy = 161, X5 = 169. 18]
(I) The following data give the birth rate in India for the

year 1970 to 1979. Estimate trend using three yearly moving

average. ' [4]

Year Birth rate

- 1970 ! 36.8 |
1971 36.9
1972 36.6
1973 I 34.6
1974 | 34.5
1975 S 35.2
1976 344
1977 33.0
1978 . 33.3
1979 | 33.0

(ITI) Explain briefly the seasonal trend in a Time Series. [4]

s

4



(c) Use-simplex method to solve the following LPP- :

Maximize Z = 4X; + .10X2

Subject to the constraints :
'2?11 + Xo < 50
2X; + 56Xy < 100
2X1 + 3X5 < 90

X Xioi= 0!

‘8. Attempt any two of the following :

[8]

(@) Determine an initial basic -feasible solution to the following

transportation problem by using Vogel’s Approximation Method.

5 Alsb find corresponding cost of transportation : [8]
Distribution Supply
D4 Dy Dy
A 3 6 5 450
Source| B | 6 1 5 500
C 7 , 8 9 350
Demand | 250 | 350 | 400 | 300 .'1300'

[3769]-211 5
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(IT)

() @M

(IT)

Find the dual of the following LPP. :

Min. Z = 3X; + X

‘subject to

X+ X > 1
2X1 + 3X9 > 2
X1, X9 > 0. [4]
If rig = 0.6, ryg = 0.7, 793 = 0.65, find the values of
Rg12 r12.3: [4]
Compute the first four central moments from the following :
nly = =011, wo = 089, g = =011, p'y =233 []
The central moments of a fréquency distribution are as
follows :
ng = 16, pg = -72, ng = 312
Find By, By, v; and yé. Also comment upon the nature

of Skewness and Kurtosis of the distribution. [4]

4. Attempt any two of the following :

@) (@D
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Define the follow.ing :

() Dichotomy class

(i) Iﬁdependent of two attributes
(ii1) Negative class |

(iv) Ultimate class. - [4]



, (II) Define the following :
| () Total cost
(i) Average cﬁst
(iii) Marginal cost
(zv) Fixed cost..

B | The values lofibX land Yaore

al

given below :

X Y
) 12
(3) 13
9 14
11 16

Find the value of Y when X = 10 by using Lagrange’s formula. [8]

() (I The following is the information on employment and

education :

Employed graduates = 286

 Unemployed graduates =
Employed ungraduates

Unemployed ungraduates

|

48
450
= 216

Calculate the coefficient of association between the attributes

employment and .education and comment on it. = [4]

7Rl _ 7

P.T.O.



(D Calculate STDR for city A and B (Assume city A as standard)

from the following data :

Age A City B
Group Population | Deaths | Population| Deaths
Below10 | 9000 120 8000 320
10-20 15000 80 30000 120
20-60 . 45000 38 48000 48
60 & above | 6000 300 14000 420

Commeﬁt onl which would you consider to be more healthy. [4]
5. Attempt any two of the following :
(@) The following data give the number of women of child bearing

ages and yearly births by quinquennial age groups for a city.

Female | Female Population | No. of births
Age Group ('000)

15-19 Cha 800

20-24 30 | 3420

925-29 28 4200

30-34 ', 25 2860

- 85-39 2 | 1920

40-44 20 600

4549 10 | 72

Calculate GFR and Total Fertility Rate (TFR). [6]

[3769]-211 . 8



(b) Given below are the population of Sibasagar _distz_'ict in Assam -

in different years. Estimate the population with the help of

Newton’s Forward Interpolation Formula for the year 1947.

Year Populafion (in lakh)
1941 28
1951 29.4
1961 30.5
1971 35.5

[6]

(¢) Solve the following assignment problem which minimizes the

total man-hours. The time required for processing the job in

hours is given in the folldwing table :

Jobs 2

4

5

Men
A 15 € D E
7 6 9 14 17
or SR e 2 11
17 12 9 9 9 |
10 15 1300 17
11 14 12 9 17

Determine the minimum man-hours to complete the jobs. [6]

[3769]-211
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S.Y. B.Com. EXAMINATION, 2010
BUSINESS ENTREPRENEURSHIP
Paper il
~ (NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(1i) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(1)
(2)

@

(4)

(5)
(6)
(1)
(8
©
(10)
(1)
(12)
(13)

Define the term ‘Entrepreneur’.

What is self-employment ?

What is entrepreneurial motives ?

How Shri Vitthal Kamat has purchased “Hotel Airport
Plaza” ?

Define the term ‘Creativity’.

What is ‘Unemployment’ ? .

What is ‘Innovation’ ?

Define the ferm ‘Social Responsibility’.
What is ‘Group Entrepreneurship’ ?
Explain the concept .‘Self-help group’.
What is ‘Franchising’ ?

What is ‘Entrepreneurship Dévelopment’ ?

Explain the concept ‘Globalisation’. _
| P.T.O.



2.
(1) State the entrepreneurial competencies required for
Entrepreneur.
(2) ~ Explain the elements of creativity.
(3) State the Do’s and an’t's of Self-Help Group.
(4) Explain the features of ‘Franchising’.
3. Answer in 150 words each (any two) : <95 [20]
(1) Explain the need of ‘Entrepreneurship’.
(2) Explain the éontribution of Shri Pramod Choudhari in the
deveiopzhent of ‘Praj’ Industries’.
(3)  Distinguish between Service Industry, Trading and Manufacturing
. ~ Industry.
(4) Explain the measures to be taken to develop entrepreneurship
in India.
4, Answer in 300 words éach (any two) : | . [30]
(1) Explain in detail the functioi;s of Entrepreneur.
(2) Write in detail the sources of Innovation.
(3) Explain the opportunities to service industry in rural and urban
areas. _
(4) . Explain in detail the difficulties in ‘Entrepreneurship

|

[3769]-212

Answer in 50 words each (any two) : -[10] .

Development’.
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S.Y. B.Com. EXAMINATION, 2010
MARKETING MANAGEMENT—I
(NEW 2008 PATTERN)
Time : Three Hours | | Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(if) Figures to the right indicate full marks.

I.  Answer the following questions in 20 words each (any ten) . [20]
. (1) Define Marketing.
(2) What is the meaning of Marketing Management ?
(8) What is Mega Marketing ?
(4) What is Product Mix ?
(5) beﬁne Social Responsibilities.
(6) State the types of Agricultural Customers.
(7)  What is Marketing Communication ?
(8) What is Customer Service ?
(9) Define Customer Relationship Management.
(10) Define’ the term ‘Service’.
(11) What is Customer Delight ?
(12) What is Insurance Service ?

(13) What is Customer Attrition ?
' P.T.O.



2.  Answer the following questions in 50 words each (any two) : [10]

(1)

(@)
®
(4)

E'xplain the difference between Sales Management and Marketing
Management.

Explain the features of Consumerism.

Explain the features of -Services. |

Explain the process of Marketing Communication.

3.  Answer the following questions in 150 words each (any two) : [20]

(1)
(2)

(3)

@)

Explain the challenges facing marketers.
Explain the factors of marketing mix.
Explain the importance of Agricultural Marketing.

State the marketing strategies for services.

4. Answer the following questions in 300 words each (any two) : [30]

(1)

(@)
®)

(4)

[3769]-213

Explain the qualities, duties and responsibilities of an ideal
marketing manager.

Explain the principles and objectives of consumer movement.
State the importance and principles of Customer Relationship |
Management (CRM). |

Explain the concept of Marketing Communication. State the

importance of Marketing Communication.

2
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3. 'Wmmmmmmmmam: [20]
(1) formel T SR e e |
(2) e frd wew W
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(4) = ﬁ‘ﬁfﬁlﬁ'@%{ S CLE N I e R
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[37691-214
S.Y. B.Com. EXAMINATION, 2010
AGRICULTURAL AND INDUSTRLAL ECONOMICS
Spec:al Paper: I (Theory)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. — (i) IAZZ Iquestions are compulsory. .

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]
(1) " Define Agricultural Economics.
(2) Define Agricultural Productivity.
(3) What is Agrilcultural Marketing ?
(4) State two institutional sources of ‘Agricultural Finance.
(5). State two 'Non«institutidnal sources of Agricultural Finance.
6) In which year was Agricultural Finance Commission established ?
(7)  What is Industrial Economics ?
(8) Define Plant.
(9) Define Firm.
(10) Define Optimum Firm.
(11) What is Industrial Productivity 2
| (12) ‘What is Industrial Efficiency ?

(13) Define Industry. :
P.T.O.
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2.  Answer the following questions in 50 ﬁords each (any two) : [10]
(1) State the functions of Agricultural Price Commission.
(2) State the causes of low productivity of Indian Agriculture.
(3) State the scope of Industrial Economics.
(4) . State the factors affecting Industrial efficiency.
3.  Answer the following questions in 150 words each (any fwo) : [20]
(1) Explain the importance of Agriculture in Indian Economy.
(2) Explain the measures to improve the productivity of Indian
Agriculture. o1
(3) Explain the role of Industrialization in Economic bevelopment.
4) Explain the factors affecting the location of Industries.
4. Answer the following questions in 800 words each (any two) : [30]
(1) Explain the defects of] Agricultural Marketing in India, and
suggest the measures to solve it. _“
(2). Explain the nature aﬁd scopé of Agricultural Economics.
(3) Expléin fully the Weber’s theory of Industrial Location.
(4) State and explain- the factors influencing the optimum size of

firm.



(W TAR)

q@ : oM qW : QKT TOT : 80

TE () W T SRR oM. =

' i) ST iH wAe gl o Sxifed.
(iii) Wewldrdt Wo TUsh WUl Ul

I wd W TEE 20 Wi SR fow (FRE wE) ;. [20)
(1) HS AR ST .
(2) 3= ScGhaEt SATedl L
(3) o1 fourH wuS %™ ?
(4) o fod Rocu™ BN TECHE HE WL

(5) q{bﬂ faq Qasde N forR-wearcrs Anl |
(6) WG YA AN O U o Fe 2
(7) Seifs sehre woS eE 2

(8) WA= SATEAl Wl

(9) SUNTEEEN ATEdl .

(10) Uafw IETEESEl oAreA

(11) ST SR RIS FE 2

(12) Sieifies wHEeTA wUS wE 2

(13) SETECHTE  SATedl .

9. WS TN yOE 50 I S fow (FRIvEE @F) [10]
(1) A YA SR HE "W
(2) URAE I Sceshdl AT STHUARN HRU |

[3769]-214 o g _ P.T.0.



(3) oienfites  erelTeAEl AW WAL
(3) efie SEamier URom SR SeE G

3. Woo Yl YW 150 = Sw foRl (Fvd |F) [20]
() e oot A "E R w9
(2) R AT STARHAT GHR BVAHISTE ST T R
(3) oo foerrar  STenfiTeTom=l ik {-*;Ibd . |
(4) oiedfier T fifisrior aRO FOR HeH TR A

4, Wwﬁﬁaﬁmomﬁﬁﬁa(maﬂ): [30]
(1) TR S e A9 TR e 4 AN g He
<
(2) _W@WWHWWW.

(3) oieifier wmfReEdder dsx aren fagd wfowy T @6
(4) e T STERAEER ORI AR weE WM q w

- .

[3769]-214 4

oy



. Total No. of Questioné—cl] [Total No. of Printed Pages—4

[3769]-215

- S.Y.B.Com. EXAMINATION, 2010
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Paper 1
(Economic of Defence and Financial Planning)
(NEW 2008 PATTERN)
Time : Three Hours ! Maximum Marks : 80
N.B. — (@) All qu;astions are.lcompulsory. |

(@@1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) - Define peace time economy.
(2)-- What do you mean by defence public sector undertaking ?
(3) State the meaning of Foreign Collaboration.
(4) Define War Finanée.
(6) What do you mean by defence programming ?
(6) .What is Zero Base Budget ?
(7)  State the meaning of productive defence expenditure.
(8) Define political ideology.
(9) Define Leadership.
(10) What do you mean by Threat Perception ?
(11) How do you define National Power ?
(12) State the meaning of external security.

(13) State the mean{ng of budgetary perspective.
P.T.O.



2. Answer in 50 words each (ariy two) : ' [10]

- (1) Explain objectives of war time economy.
(©) Dis_cusé methods of War Finance.
(8) Describe importance of zero base budgeting.
@) Explain importance of defence planning.
3. Answer in 150 words each (any -two) : : | [20]
(1) Write a short note on mobilization of resources for defence.
(2) Discuss defence as an economic problem.
t3) ‘Do you think defence expenditure is productive ? Justify.
(4) Explain the importance of budgeting.
4. Answer in 300 words each (any two) : [30]
(1) Discuss relationship between Defence and Technology.
(2) Analyse India’s defence spending since 1990.
(3) Write a note on determining factors of defence expenditure.
(4) Write in short salient features of Indian Iconomy.
(S i) :
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S;Y. B.Com. EXAMINATION, 2010
INSURANCE, TRANSPORT AND TOURISM—I
(NEW 2008 PATTERN)
Time : Three Hours | | '  Maximum Marks : 80
N.B. :— (i) All questions are -.COmpulsory.

) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) [20]
(1) What is meant by Insurance Policyholders (Insurer) ?
(2)  What is Life Insurance ?

(3) Define Tourist.

(4) Déﬁne Marine Insurance.

(5) What is Tourism Planning ?

(6) Define Tour Operator.

(7) | What is Group Insurance ?

(8) What do yqu'méan by Crop Insurance ‘7
(9) Define Tourism.

(10) What is Health Insurance ?

(11) What do you mean by General Insurance ?
(12) What is Insurance cla-im ?

(13) What is meant by Geographical Tourism ?

P.T.O.



2.
1)
@)
3)
4)
OB
(1)
)
3)
(4)
4,

(1)

An__swer'thé following questions in 50 words each (any two) : [10]

Explain ‘the responsibilities of Insurance Policyholder
(Insurer).

Expléin_ .the. scope of General Insurance iﬁ India.

Write a note on Religious Tourism.

Explain the essentials of Tour Planning.

Answer the following questions in 150 words each (any two) : [20]

Explain the basic_principles-f of Insurance.

Evaluate the role of general insurance company of India.
Explain the impact of Tourism on social and cultural aspects
of the society. |

Explain the different types of Life Insurance Policies.

Answer the following questions in 8300 words each (any two) : [30]

' Distinguish between the Life Insurance and General

~ Insurance.

(2)
- (3)

@
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Explain the Orgaﬁisational Structure of Life Insurance
Business.

Explain in detail thé Signiﬁ'cance and different types of Tourist-
Accommodation.

Explain in detail the variéus types of Tourism.

2
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[3769]-217
S.Y. B.Com. EXAMINATION, 2010 |
COMPUTER APPLICATION
| Paper 1
(Visual Basic)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(@it) Neat diagrams must be drawn wherever necessary.

1. (A) Answer the following questions (any four) : [8]
(1) What is event ? List some common events in VB.
(i) What do you mean by a variable ?
(iii) What is an array ?
(fv) What is status bar ?
(v) What do you mean by MDI child form.
(B) Give the output of the following section of code (any two) : [8]
() Dim str as string “
str = “VISUAL”
I = len (str)

. print I

PTO.

-



(i) Dim i1 as Integer
For i = 20 to 2 step -2
print 1
Next .
(Zii) For row = 1 to 5
For col = 1 to fow
printistay
Next co 1
print

Next row.

2. Attempt any fwo of the following : ' [16]
(i) Explain the steps to connect with Access database using ADO
Data Control.
(i) What is function ? Explain different functions used is Visual
Basic.

(iti) Explain in detail menus in VB.

8. (A) Write the purpose and syntax of the following (any four) : [8]
- (1) Inpuf Box
(i) msgbox()
(ii1) While......wend |
(2v) Line
(v) Shape. _
[3769]-217 . 2
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(B) Write properties and methqu of | the following (any two) : [8]
(i) Checkbox '
(Zi) Combobox
(2i2) Command Button.’
4. Attempt any two of the following : ‘ [16]

.(i) Explain in detail about the steps for creai:ing data reports
in Visual Basic.

(iz) Why is VB called as event dﬁven programming ? Write features
of Visual Basic. |

(tit) Explain in detail on Common Dialog Boxes.

5. Attempt any fwo of the follbwing K [16]

(z) What is Data Source Name ? Explain the different DSN and
procedure of éreating user DSN.

(ii)" Design a form in VB fo calculate the student marksheet for
six subjects. Display six textboxes for reading marks of six
different subjects and 3 buttons to calculate -to’cal, percentage,
and grade of the student. Write a program for calculating
total, percentage, and grade of the student.

(i1i) Explain the different data types is Visual Basic.

(37691217
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S.Y.B.Com. EXAMINATION, 2010
| (Vocational Course)
COMPUTER APPLICATIONS
 (Course - III)
RDBMS (Theory)
(NEW 2008 PATTERN)

Ti}ne : Two Hours " Maximum Marks : 40

N.B.

:— (i) Question 1 is compulsory and solve any five from the remaining
questions.
(it) Draw a neat-labelled diagram wherever necessary.

(iz7), Figures to the right indicate full marks.

Define DBMS. Explain the benefits of Database in business. [10]

Explain' in brief the following with syntax and example : [6]
(@) Create Table
(b) Drop.

Explain in brief the concept of Normalization upto Third Normal

Form. [6]
Explain the following functions : _ [6]
(@)  Substr() |

(b) Min()

PITO!



5. Explain in brief the following : (6]
() DDL

(b) Foreign Key.
6. Explain the following with examples : e
(@) Group by clause

(b) In operator

70 Wiite. 5 horthnote N PL/SQL. 6]

(3769]-218 )
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S.Y. B.Com. EXAMINATION, 2010

ADVERTISING, SALES PROMOTION AND
SALES MANAGEMENT

(Vocational Course)
Paper III
-(A(ivertising and Media Planning)
(NEW 2008 PATTERN)
Timé .: Two Hours _ Maximum Marks : 40
N.B. :— (i) All questions are compulsory.

(if) ~ Figures to the right indicate full marks.

1. | What do you mean by Branding ? Write a detailed note on the
- importance of Branding. [12]

| Or
Wh;ﬂ.t is Advertising Effectiveness ? State and explain the pre-testing

‘methods of evaluating advertising effectiveness.

9.  What do you mean by Animation and Graphics ? Explaiﬁ the role
of animation and graphics in advertising. y . [12]"
Or-
What are the causes of waste ‘in advertising ?

P.T.O.



3 Write short notes (any four) : th [16]
(i) Elements of Copy
(i) Media Planning
(Zi1) Disadvantége_s of Television Advertising
(iv) Advertising IStrategy
(v) Essentials of Financial Ads

(vi) Advértising Media.

[3769]-219 i 2
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S.Y. B.Com. EXAMINATION, 2010
TAX PROCEDURE AND PRACTICES
\ Paper III
(Income Tax)
. (Vocational Course III)
(NEW 2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.

(i) TFigures to the right indicate full marks.

1. Answer in 20 words each (any seven) : [14]
(1)  Who is called ‘Assessee’ under LT. Act ?
(2) What is meant by ‘Total Income’ ?
(3) How do gou determine Residential Status of an individual ?
(4) What is the liability for Advance Tax ?
(6) What is meant by Block of Assets ?
~(6) W_hat is meant by Cbst Inflation Index ?

(7). What is ._I_neant by Self-Assessment ?



(8)
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Enumerate rates of Income Tax applicable for unspecified

individuals for A.Y. 2010 to 2011.

(99 Who is required to deduct tax atl_ source ?
- (10) What is meant by set-off ?
2. Answer in 50 words each (any .two) : 8]

(1) Enumerate five exempted incomes u/s 10.

(2) Eﬁume_rate expenses which are expressly-allowed as
deduction at the time of computation of Income from Business
Professions.

(3). What are the specific incomes from Income froml Other

- Sources ?
(4) What is meant by Net Adjusted Value ? How is it calculated ?
3. Answer in 150 words each (any three) : [9]

(1) What is meant by ‘Best Judgement Assessment’ ?

(2) - What is meant by ‘Allowance’ and Perquisites’ ?

3) . What.is meant by ‘Capital Gain’ ? Explain the types of capital
gain. _ |

(4) Who can make Ist Appeal ? When ? To whom ?

.(5)_' How to calculate exemption for HRA. ?



4. Answer any one in 500 words : . [9]

(1)  Explain provision for obtaining PAN. What are the importances
of PAN ?

(2) What is meant by ‘Return’ ? Is it compulsory. to file return

under Income Tax Act ?
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| | [3769]-221
S.Y. B.Com. EXAMINATION, 2010 |
(Vocational Course) ;
COMPUTER APPLICATIONS Course—IV
| Theory
(Softwaré Engineering)
(NEW 2008 PATTERN)
Time : Two Hours : Maximum Marks : 40

N.B. — () Questit)n No. 1 is compulsory and solve any five rest
of the questions. : '

(it) Draw a neat-labelled diagram wherever necessary.

(Zit) Figures to the right indicate full marks.

1. What is E-R Diagram ? State which symbols are used for E-R Diagram
and draw E-R diagram for Admission System in which students,

course and teacher are entities. [10]
2. Explain Waterfall Model '.with diagram. | [6]
3. Explain Structured I‘System Analysis and Design Method. [6]
4. Explain the following : _ [6]

(@) System Analyst
(6) Roles of System Analyst.

PT.O.
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Explain what is normalization. . [6]

Explain the need of feasibility study Ibefore taking up the task of
System Design. . | [6]

What do you understand by word ‘Integrated System’ ? [6]

37691221 ' 2



Total No. of Questions—3] | [Total_ No. of Printed Pages—2
| [3769]-222
- S.Y. B.Com. EXAMINATION, 2010
ADVERTISING SALES PROMOTION AND
| SALES MANAGEMENT
Papef v (Vocational)
(Personal Selling and Salesmanship)
(NEW 2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. — () All questions are cémpulsory.

(1) Figures to the right indicate full marks.

1. Explaiin the concept of marketing mix. State the elements of marketing
mix, - [12]
or

Define salesmanship. Explain the qualities of an'ideal salesman.

2. Explain in detail various stages in process of selling. [12]
S0r

What do you mean by buying motives ? Explain every motive with

appropriate examples.

- P.T.0.
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a5 Write short notes én (any four) : [16]
(i) Advantages of personal selling
(it) Types of salespersons
(iii) Types of market
S G0) D ATDA Y tochnighe
(v) Need of Retail Marketing

(vi) Shopping in Malls.
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, [3769]-223
S.Y. B.Com. EXAMINATION, 2010 |
TAX PROCEDURE AND PRACTICES
| f’aper IV :
(Wealth Tax, Service Tax, Central Excise)
(Vocational Course)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :—

() All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer in 20 words each (any seven) : | . | [14]

(1) What is service tax ? -

(2) What are the taxable services ?

(8) * Under which authority service tax is levied ?

(4) Who is liable to pay Wealth Tax ?

(6) What is “Net Wealth” ?

(6) Whether former ruler’s Jewellery is taxable under Wealth Tax
law ? How ? el

(7) State the rate of service tax for the year 2009-10.

(8)l State the meaning of duty of excise.

(9)  What are the basic _conditions for Iévy of Central Excise
duty ?

(10)

What do you mean by “Cascading effect of Tax” ? ‘
| e P.T.0.



(b)
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2. Anéwer' in 50 words each (any two) : : : 8]
| (@) What is meant by “Value of taxable service” ?
(b)) How to pay the Service Tax and when ?
(é) Which assets are taxable under Wéalth-Tax ?
(d) “Excise is a duty \and' not tax.” Explain._
3. ,Answer' in 150 words each (any three) : ‘ [9]
(1) How, where and when service tax retﬁrn is to be filed ?
(2) What is meant by registration ? Why is reéistratioh_necessary
| under Service Tax ? .
(3) State any six deemed assets under S 4 of Wealth Tax Act,
1957 |
(4) Write a note on “Debt Owed” under Wealth Tax Act, 1957.
(5) Write a note on Cenvat Credkit.
4. Answer any one in 500 words : [9]
(¢) Discuss the full procedure for filing the return under Wealth

Tax Act, 1957 with due dates and penalties provision.

Write down the registration procedure under Central Excise

Act, and Rule 1944 and exemptions under Central Excise.



